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INDIAN HISTORY

Which of the following was the
first English ship that came to
India?

1) Titanic 2) Red Dragon
3) Elizabeth ~ 4) Mayflower
Who were the first Europeans to
set up sea trade centres in India?
1) The Portuguese

2) The French 3) The English
4) The Dutch

Which one of the following is
connected with 'Blue Water
Policy'?

1) De Almeida 2) Rober Clive
3) Dupleix 4) Albuquerque
Which one of the following
Mughal emperors gave an impo-
rtant Firman to the English of
facilitating their trade in India?
1) Bahadur Shah I

2) Bahadur Shah II

3) Shah Alam II

4) Farrukhsiyar

After his defeat in the battle of
Plassey, Siraj-ud-Daulah fled
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from the battlefield, which one of
the following carriers he used?
1) Camel 2) Horse

3) Elephant  4) Palanquin

By which treaty, did the English
East India Company gain the
Diwani rights of Bengal, Bihar
and Orissa?

1) Treaty of Murshidabad

2) Treaty of Hooghly

3) Treaty of Allahabad

4) Treaty of Haritharpur

First decisive military success of
English East India Company in
India is marked by:

1) Battle of Plassey

2) Battle of Buxar

3) Battle of Wandiwash

4) None of the above

Who of the following led the
army of the East India Company
in the battle of Buxar?

1) Warren Hastings

2) Lord Clive 3) Hector Munro
4) Watson

Which one of the following
statements i1s not correct about
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the Anglo-Mysore war?

) Tipu Sultan was killed in the
battle field

2) Rule of Tipu's successors ended

3) A subsidiary alliance was
concluded with the former
Raja of Mysore

4) Mysore was completely amal-
gamated in the British Empire

Match the following:

Battle

A. Battle of Plassey

B. Battle of Ambur

C. Battle of Buxar

D. Battle of Wandiwash

Period

1. Jan 22, 1760

2. 0Oct 22, 1764

3. 1749

4. Jun 23, 1757

1) A-1, B-2, C-3, D-4

2) A-1, B-2, C-4, D-3

3) A-2, B-1, C-3, D-4

4) A-4, B-3, C-2, D-1

Which British military officer

defeated Tipu Sultan in India,

Napoleon Bonaparte in Europe
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and eventually became the Duke
of Wellington?

1) Arthur Wellesley

2) Robert Clive

3) Warren Hastings

4) Richard Wellesley

Who among the following Gov-
ernor Generals formed the Triple
Alliance against Tipu Sultan?

1) Lord William Bentinck

2) Lord Cornwallis

3) Warren Hastings

4) None of the above

The statement, "We have
crippled over enemy without
making our friends too formi-
dable", is associated with:

1) Second Anglo Mysore War

2) Third Anglo Mysore War

3) Fourt Anglo Mysore War

4) First Anglo-Mysore war

The permanent settlement of
Lord Cornwallis gave the owner-
ship of land to:

1) Peasants 2) State

3) Nobles 4) Zamindars
Which building constructed in
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India by the British was known
as 'White Town'?

1) Fort William (Calcutta)

2) Residency (Lucknow)

3) St. George (Madras)

4) Victoria Memorial (Calcutta)
The 'Filtration Theory' in
educational policy of India was
propagated by:

1) Lord Macaulay

2)J. Mill

3) Lord Cornwallis

4) W.C. Wood

Between which stations was the
first railway line opened in India?
1) Bombay to Pune

2) Calcutta to Raniganj

3) Calcutta to Jamshedpur

4) Bombay to Thane
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7) 2
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9)4 10) 4
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